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ORUALZI 2,148
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01 A& HI 307,352 50,920 256,432
OJ E2EUYEXN 24 EX0HH
300,000,000 300,000
OMLtH BHiEs ASBx=x2 7,352
OZdEINx==E
300,000,000& * 2712 = 0.11% 660
OzgsEgds=R
403,000& * 2712 = 7E X 5,642
OsJI0lEs= 70,000& = 15X 1,050
03 A& =2 THHI 2,160 360 1,800
©J HYEX 24 20|
300,000,000& * 0.72% 2,160
BB E LRUHAESE FAHAY 30,324 30,324 0
401 Al HI L 2 THHI 30,324 30,324 0




2N
X ZH -
L= B

el

g3 2Lusu
o DELAES e TADIEEY
= 12m01 2t SAHEEZ N4

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 30,000 30,000 0
O & H 3 A 10,000,000& * 34 A 30,000
03 A& 2 0HH| 324 324 0
OZ2AEX JIEFE U Y] 30,000,000& * 1.08% 324
22s 4223101354 =24 30,810 30,930 A 120
401 Al HI L 2 0HHI 30,810 30,930 A 120
01 A& HI 30,540 30,930 A 390
O E X0 & Bl 15,000,000& *» 2 X| 30,000
O BIS 24E +42 540
O2dIIIE=x2 200,000& = 2J4 0| = 400
OsJIold==2 70,000& * 22 X 140
03 A& 20H b 270 0 270
OAN&E=20bI 30,000,000& * 0.90% 270
SN0l A2-104 S22 317,232 0 317,232
401 Al HI L 2 0HHI 317,232 0 317,232
01 A& HI 317,232 0 317,232
(OFSPNR=P;s] 250,000,000& =* 4.33% 10,825
O EX 24| 300,000,000 300,000
OMUAME 2AZE 248 6,407
OZdH=sEs+=2 511,000& = 5Z X| 2,555
O2egssdsrra 336,000& ~ 7Z X 2,352
OLHEIN+42
300,000,000& * 0.0011 = 204D & 660
OsJIold==2 70,000& * 122 X| 840
0¥ SAHE 2 (A2-137) H& 89,734 0 89,734
401 Al HIL 200 89,734 0 89,734
01 Al &bl 89,734 0 89,734
O & Al & HHI 160,000,000& * 4.74% 7,584
O E Xl 24t 80,000, 000& 80,000
OMUAHE 2AZ +48 2,150
dAESEerE 511,000& = 2Z X| 1,022
O3 336,000& * 22 X| 672
OLFBI+42
80,000,000& = 0.0011 * 274272 176
OSJolEE=x=2 70,0008 * 4Z X 280
g & TAHEEZZ(A2-569) HE 163,294 0 163,294
401 Al HI L 2 0HHI 163,294 0 163,294
01 A& HI 163,294 0 163,294
O & Al & H I 170,000,000 * 4.74% 8,058
O EX 24| 150,000, 000& 150,000




2N
X ZH -
L= B

el

9 AL WEY
of pEYNHS 98
= 12n012+9] S Al

. (BH) - HSAY - BAS o A o SSa H RS2
OMAAHAS 2B+ 5,236
OZdH=ssEsx= 511,000& * 6E X| 3,066
O2egsdsra 336,000& = 5& X 1,680
OsJolE==2 70,000& ~ 72X 490
gs A2-10025 46 = 103,608 0 103,608
401 Al B2 20 HI 103,608 0 103,608
01 A& HI 103,608 0 103,608
O EX 2 AtH| 100,000,000 100,000
OTMAHE 2B +42 3,608
OZANETL4E 51,0002 * 4Z X 2,044
ORg=gy+4E 336,0002 * 4Z X 1,344
OLHEI+22
100,000,000& * 0.0011 * 274 I = 220
4,631,599 7,293,121 N2,661,522
H 2 SANE4 1,975,863 3,438,100 N1,462,237
ol d| 4,545 0 4,545
4 II2ZEHIZ22 X EE > 4,545 0 4,545
OZT NSEXA 4,545
O WEEI A LAAIE 2
43,5003 * 32 * 3Y * 100 3,915
OQUEHXT A 24H|
7,000& * 3 x 3% x 1004 A 630
2 BH2 A H| 226,248 234,706 N 8,458
01 At 22l Yl 31,152 54,972 N 23,820
oOLAZzd 44 0l= 600,000& * 3H 1,800
Ox=zdH dAHE 222 4,652
OE2H ZEH) 23 4,652
-E2H EXI(A1) 27,5008 * 5E * 6 825
-Z2H X (A0) 66,000& » 12 ~ 6& 396
-E2H W= 148,400& = 104 = 128 1,781
-E2H 23 55,000& * 501 * 63 1,650
oOxz2H &M= HMA L tis+==2 HH Xz 10,100
O=4D] 560,000& = 1CH = 10 5,600
OogZxt 450,000 = 100 = 10 4,500
O4A2 &2 EXAMEZ 500,000& + 102X 5,000
O 203 SEEXIAMN L N HE IHSEAX
800,000& * 14 ~ 12& 9,600
=329l 195,096 179,734 15,362
Ozd=Z XUgesHel HE L S5AE 56,000
(OFSPIETE= 1,200,000& = 12& 14,400
Oidt=& 22 5,200& * B00E * 10& 41,600




SN Mg ALDED
& XY ZE€@EAES /s TAIDIEEXH
ool cRee (cHel ® Q)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OISt AFR 4 HHEtH| 1,566
OoszrU(ssR) 1,305& * 204 =* 60 1,566
Ok=zH HNE=EXHAE W FI A= 1,875
OREU(HESR)
1,875& = 50 * 1002 = 204 1,875
OS2 84| &Hl =2yl 1,000
O, HE Il S 500,000& * 2& 1,000
OXotXE JIHEH SX 13,022
SFRUH(ER) 1,685& = 4004 x 33 2,022
Og&Il %2yl 1,000,000& = 14 1,000
Ot =& Z 22l 10,000,000& * 14 10,000
OXGHXE =tH& Bt X dl 5,000
O=xd®tt 500,000 * H5IH A 2,500
O bl & Bt 500,000& * 504 A 2,500
OYA-AHZAEHE 222 106,824
(OFSPIETa=] 8,000,000& = 12& 96,000
Oske= 82,000& = 11JHA ~ 128 10,824
Octatez M2 B23L3 6,360
(OFrsPIETE=: 65,000& = 40 * 128 3,120
o JH22 60,0008 * 4 + 128 2,880
O2XAHARZ 30,000& = 1A x 12& 360
oOxE REHI 1,658& * 8¢ * 260 3,449
206 M= Hl 50,568 40,061 10,507
01 X2 bl 50,568 40,061 10,507
oxNIEzEL+= M 48,060
(OPNE=PNRIE=DNE= 231,000& * 604 13,860
OZjorAE 14,000& * 1,500% 21,000
OAHE 5,000& * 300 1,500
o2l 23,000& * 300m 6,900
O2M(MA) 45 16,000& = 300m 4,800
o224 XY otd2AE XM 2,508
O3 AL E X & 60,000& * 1JH 60
OSAIS A 25,000& * 20H 500
OSALE ctuta 13,200& * 304 396
O&X dlsE 15,000& * 30H 450
OfIg 218 17,600& = 200H 352
Oz)llst e
15,000& * 100 * 5& 750
305 HiA=2S 5,000 2,000 3,000
01 A 2SS 5,000 2,000 3,000
OEZANAE= M=oz OIak HoH di A
500,000& * 103/ 5,000




SN Mg ALDED
M N DHUNES A TAIIBEN
el Ezzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 55,400 56,000 A 600
05 RIZt2E = 55,400 56,000 A 600
OJIsE AIRA YH(RUIIHEH)RE
2,000,000& 2,000
OXote &Aatl 450,000 * 1JHA * 128 5,400
O=Y=Z XeleAHel RAE=HI 48,000
OZ=0 & AHZE &l 18,000,000 18,000
OCHFEANEES 5 E& 2,500,000& * 128 30,000
401 Al I 28I 1,634,102 3,105,333 A1,471,231
01 A& HI 1,626,722 3,095,983 A 1,469,261
O ¥ TZANES RAEFAY 1,470,000
O0AZE AIIE=+ 300,000, 000& 300,000
OXe &M 50,000,000 50,000
O &€ ZAHAA RAUE+ 50,000,000& 50,000
OFIF=E DN 610,000, 000& 610,000
O=s=2 28+ 360,000,000 360,000
OEZUFEANEERNES 100,000, 000& 100,000
OE2UN SYL22(FANEY)
450,000& = 10Z X 4,500
OS2 SY+42(LESY)
350,000& = 10Z Xl 3,500
O4dEE CCTV & dZH RAES
85,000& = 28CH = 123 28,560
ootz dzE |2
1,500,000& * 12& 18,000
o=k & sHEZZ 022X B4 52,162
OE&EXI0H bl 10,000,000& * 5& X 50,000
OLE4+4+8 2,162
A8 200,000 200
~EEEYLAT 403,0008 * 2 % 2EX 1,612
S0l ==8 70,000& = 52X 350
OJIEt2nEY RIES 50,000,000 50,000
03 Al S THHI 7,380 9,350 21,970
O0k2 & TZANE=E RANE AIE2UHI
1,000,000,000& * 0.63% 6,300
o=k & sOHEX 022X B4 20U
50,000,000& = 1.08% 540
OJIEtANY RXNEx ALY
50,000,000& = 1.08% 540
g 2 AEd=ES g2 1,376,670 1,635,760 A 259,090
401 Al I 28I 1,376,670 1,635,760 A 259,090
01 A& HI 1,371,296 1,630,000 A 258,704




A AT ALDED
M NS dELEE /s ZADIEEH
chelr TR ECR-E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONSHUANA (HMEDS 4L) JLFAS
& 170,980, 000& 170,980
ONSHHAAS (TR 5H4) ZUHAS
A 154,962,000& 154,962
OSTBRAUMALE SLBASA(10H4)
100,000, 000& 100,000
OANSYHUHAANLE FHIIHEEH (144 2)
23,000, 000& 23,000
OSHB2HAAL FIIHEEH (450HA)
46,000,000& 46,000
OgMNL 2223 AH(L=137m, B=35m)
500,000, 000& 500,000
O"EL Ex22 2 A (L=44m, B=20m)
173,000, 000& 173,000
oOung B3 A & AIEAHI
673,000,000& = 3.47% 23,354
ouxs ¥ AMd=E RAE=3A 150,000,000& 150,000
OANEE HME 2 FXNE= 30,000, 000& 30,000
03 Al S THHI 5,374 5,760 A 386
OungEB=EAMY =& AL
853,000,000& = 0.63% 5,374
28 KGRI AL 1,029,654 161,166 868,488
401 Al HIZ 201 I 1,029,654 161, 166 868,488
01 A& HI 1,023,536 159,942 863,594
Oz del 0t =& AH(L=450m, B=4.0m) 92,536
O& A& A HI 40,000,000& = 6.34% 2,536
O 24| 50,000,000 50,000
O3 AtH| 40,000,000 40,000
Oz HF 12l o2t M I3 AH(L=550m, B=3~
4m) 80,000,000& 80,000
O0l2H 222l T2 XX I3 AH(L=300m, B=3.0m)
20,000, 000& 20,000
OJIES #H2| == T T AHL=300n, B=3.0m)
30,000,000& 30,000
oded 22 52X X3 AH(L=200m, B=3.0m)
30,000,000 30,000
od2dH 2 XNYZ ZILE I AHL=250m, B=
3.0m) 50,000,000& 50,000
ONEW~=HI=HE 2 MY EZE S AHL=450m,
B=4~5m) 60,000,000 60,000
ONLE StUSMS~-RASZ2F ZE3AHL=20
m, B=5~6m) 30,000,000 30,000
ONEsS AU B=FHI3AH(L=140m, B=3.0
m) 20,000,000& 20,000
OEHEZ1Jt Hot2 82 = IM2I| S AH(L=15
Om, B=8.0m) 40,000,000& 40,000




AN &Y LSS0
M NS dELEE /s ZADIEEH
ol szl (S5 &)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ODIEH Jryel 150HX 22 s ZHBAM(L=
200m, B=3.0m) 25,000, 000& 25,000
OO0l M ot&=XE dAZ IH& 3 AH(L=100m,
B=5.0m) 20,000, 000& 20,000
oddH =22 =2 EZ &3 AH(L=500m, B=3.0m
) 40,000,000 40,000
oM Ors1el ug 2 ALE ZEHIAH(L=2
,500m, B=5.0m) 45,000,000 45,000
O&EsES &g X L 2UHAIEZA
50,000, 000& 50,000
OD¥H =12l 02t IM I3 AHL=1,200
m, B=3.0m) 60,000, 000& 60,000
OYE2Z1IF AtZ112812 L &3 AH(L=150m, B
=8.0m) 40,000,000& 40,000
odgdedd Nl MYE M| 3 AH(L=250m,
B=3.0m) 15,000, 000& 15,000
oEYd S22l Y FM I3 AHL=1,500
m, B=3.0m) 60,000, 000& 60,000
OEYd &222 0t NI B AF(L=350
m, B=3.0m) 18,000,000& 18,000
OZXOHES5,65H Xl AtOl O &= & HI 3 AF(L=200m,
B=2.0m) 10,000,000& 10,000
OE=S=253¢2d 4 2 ZAZZ 0IDNHELXA
A SX(50HL) 18,000,000& 18,000
OMGZ13H A 5 OtAZE L E I AH(L=60m, B=4
.0m) 10,000, 000& 10,000
O4Y256812 T2 I 3IAHL=200m, B=2.0m)
15,000, 000& 15,000
O&8Ys 156-60 Ot202t2 OtAZEZ AT AH(L=90
m, B=5.7m) 15,000,000& 15,000
OANOtE MYE NI AH(L=250m, B=5.0
m) 15,000,000& 15,000
O4etZ 82-12 & OtAZEZ & = AH(L=150m, B=8
.0m) 10,000,000& 10,000
O0I&H LHa3e] =22 & 2 i3 JUISA
(L=450m, B=3.0m) 60,000, 000& 60,000
O8ds 2= SYHAZ A XS A(L=20m, H=2.0m
) 30,000, 000& 30,000
otds 7THX S2AEX &X 15,000, 000 15,000
03 A& =2 THHI 6,118 1,224 4,894
OALTE KGRI AHE AIE 204
971,000,000& = 0.63% 6,118
ARS XYHL AL 249,412 2,046,687 A1,797,275
401 Al B2 28I 249,412 2,046,687 AN1,797,275
01 A& HI 249,412 2,036,000 A 1,786,588
ONdE ¥ E2HY MREX 0 249,412
OEXI0H bl 6,000,000& = 41Z X 246,000




SN Mg ALDED
M N DHUNES A TAIIBEN
ce T2z A
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
SEEEPES Y
246,000,000 = 2712 * 0.11% 542
(OISPINNRSE-E 70,0003 = 41& X 2,870
et - THollel M2 28 2,460,681 1,520,713 939,968
THEE - RHOH o 2 1,020,327 21,306 999,021
THEE 2 THoH 22l 1,020,327 21,306 999,021
201 2Et2Hy| 76,427 14,306 62,121
01 AP 22| d| 2,230 1,398 832
OMHUSTeMEA 22X S|
7,0008 * 29 * 50 700
OMEX 2RI =&
7,0008 » 39 * 50 1,050
OMHtEe EE2E2 ¥ 49 H&
80,0008 * 63l 480
02 B32%H| 74,197 12,908 61,289
O&aolltH2 &Y =44 5,440
OuwBIl A2 1,000,000& * 2CH 2,000
ONAEE Dea I 22l
1,000,000& * 2CH 2,000
ONM&Es BEH 2HY MES
120,0008 * 12& 1,440
OMAEH EXASS 2,560
OMAEZX(WLED]) HIIAIER2
200,0009 * 2CH * 4 1,600
ONMEHEI MolE=ZAIES
80,000 = 30§ = 4& 960
O 2| 6,697
OMAERY S HEHSIU(SS)
1,305& = 504 = 20 1,305
ONMEE QeI SFUHESY)
1,685& * 1604 * 20 5,392
o=k ¥ sHEEZ HMeEsd 59,500
ONM&ZH 282 (EdHIOY0IH)
400,000€ = 8504 34,000
ONM&EZH EdYH Sx4|
100,000 = 33| = 8504 25,500
206 M = dl 7,000 7,000 0
01 X2 bl 7,000 7,000 0
O=xdlti 2= Xt 7,000
Os44 =2t0tt 5,000€ * 8000H 4,000
OP.PEZH 400& = 5,0000H4 2,000
O™ X A4= 1,000,000& 1,000
401 AlEHIZ 2 0HY| 936,900 0 936,900
01 Al&H| 931,230 0 931,230




SM: MY ALDED
M T - THol 2 MZst =&
Chlr THY - THOH Ol & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OR4d A& NSXE ALY ASAMY 931,230
O A& 3 AtHI 900,000, 000& 900,000
O& A& 900,000,000& = 3.47% 31,230
03 Al 20 HI 5,670 0 5,670
OR4aH A2 NsXE AIAE ASAMY
A& 20| 900,000,000& = 0.63% 5,670
St - HH=AlE JHA 1,440,354 1,499,407 A 59,053
ot FHl ¥ |2 339,700 345,720 26,020
202 oddl 2,040 0 2,040
02 N0 2,040 0 2,040
Oct& Ll =8P &= XN
170,000& 1Y » 123 2,040
401 Al HIZ 2018 337,660 345,720 A 8,060
01 A& HI 335,500 345,000 A 9,500
Ooctd R X 2Ze| At 300,000,000 300,000
ozZg=+ FHegxtzs 550,000& = 10CH 5,500
Ootd 2 OI=2EXNE24  30,000& * 1,000m 30,000
03 Al S THHI 2,160 720 1,440
OotE KRR 2CIAY Al E R0
300,000,000& * 0.72% 2,160
ACHE FHIALY 959,646 1,133,471 A 173,825
401 AIEHI L 2 CHYI 959,646 1,133,471 A 173,825
01 A& HI 954,322 1,130,000 A 175,678
OAdtd RAE=+ 80,000,000& 80,000
O™ oIxtAGHA FHlZ AH(L=280m)
225,000, 000& 225,000
ogYd E&FAoHE FHl 3 AHL=790m)
500,000, 000& 500,000
oOgdd 2FAGHAE FHl S AHL=150m)
120,000, 000& 120,000
OZctd FHISAH A Al AHI
845,000,000& = 3.47% 29,322
03 AlE 2 THHI 5,324 3,471 1,853
OAGHE FZHIALY AlE 2 0HYI
845,000,000& = 0.63% 5,324
BH=Ald EHl & FX 22 141,008 20,216 120,792
401 AIEHI L 20HEI 141,008 20,216 120,792
01 A& Hl 140,000 20,000 120,000
Odt=Hel2 79 ot=% HHIAY
140,000, 000& 140,000
03 Al =20 HI 1,008 216 792




SN Mg ALDED
M THE - THO 2l Hz3 8
S of& - i AlE JHA (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Odt=Xel2 79 ot HHIAIE Al 20|
140,000,000& = 0.72% 1,008
HHSHAL (MEF HAEDNED) 276,326 14,793 261,533
ol 2 A | 219,164 0 219,164
[Slals] 219,164 0 219,164
101 2121 4| 219,164 0 219,164
03 2IAHALZZHE = 219,164 0 219,164
oxEz=Ex¥ 212,814
ods(or2) 130, 100
214 Xt 30,440,000& * 1& 30,440
-154E X} 26,540,000& * 1H 26,540
-134 X} 25,240,000& * 1 25,240
-124 Xt 24.590,000& * 1 24,590
-104 Xt 23,290,000& * 1 23,290
o= 64,129
-tEY 3,120
ol Xt 40,0008 = 5% x 12& 2,400
=l & 20,000& = 39 x 12& 720
—HEE G 100,000& * 128 1,200
Y224y
8,950& * 20Al2t = 5H * 128 10,740
-EYYOIANTRLY
8,950& * BAlZ2t x 60 * 5H 21,480
-0t x4 g
29,790,000& /365 * 11 % 5™ 4,489
=52Y 210,000& * 5% * 12& 12,600
=JbH A& HI 175,000& = 59 * 12& 10,500
OY ZE S| 1,138,500& =* 23| * 5H 11,385
O=&l 120,000& = 5Y = 128 7,200
S22 S| 3,850
O3S Xel 7,000& * 60Y x 5YH 2,100
OZ=oll CH=H 7,000& * 50 » 5% 1,750
OFAMX XIZd 500,000& = 59 2,500
Jl=3tl 57,162 14,793 42,369
Jl2AH| 57,162 14,793 42,369
201 Bt A H| 34,082 7,533 26,549
01 AP 2t2l bl 19,934 5,365 14,569
OJl2gdRsa8 A 11,366,000 11,366
o3gdl(JIE=&Hl) 8,568,000 8,568
02 332494l 14,148 2,168 11,980
oW 10,300




SN Mg ALDED
HH: HHSYAL (HZT AHEDED)
¢l =gl (chel & 9l)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
O™ 2703 = 11,0004 2,970
osJ|IH#H 1,900& = 3,000 5,700
oets=2 1,630& =1,0004 1,630
OMHAEEH KAE | 48,095,000 * 8% 3,848
202 04| 17,280 6,210 11,070
01 2L HI 17,280 6,210 11,070
OJl=Z& | 17,280,000 17,280
203 € R F=&d| 4,200 1,050 3,150
04 EANSIE LR =XH| 4,200 1,050 3,150
©J| =% (302! Olat) 350,000& ~ 12& 4,200
405 XHA&HF S HI 1,600 0 1,600
01 AL 2 FF S| 1,600 0 1,600
O M AMIELD] 600,000& = 1CH 600
o=&1 400,000& ~ 1CH 400
©O0l= Hdlu 200,000& ~ 10CH 200
ON&dZEI(HE) 100,000 = 4CH 400
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M- BB (3H) - MBAY - B2 il 2
OsII 1,900& = 1708 *» 12& 969
O et 270& * 1708 * 128 138
oetsz 1,630& * 50& » 12& 978
OHH AR EHI =X b 584
Oe&EI *X 2,300,000 = 1CH = 8% 184
(OFSPAE-NP]
5,000,000& = 100 * 8% 400
OHOIETV== 9,900& * 12& 119
202 (4] 14,040 3,510 10,530
01 2L Y] 14,040 3,510 10,530
©J| =& bl 14,040,000& 14,040
203 2R =&Y| 4,200 1,050 3,150
04 ENSIHRF=XY| 4,200 1,050 3,150
ORNEYYREA| 4,200
OSNSYALETY (R 302 0I5H)
4,200,000 4,200
405 XtakF S| 3,700 0 3,700
01 AIMNLEEFNS 3,700 0 3,700
OANRESHA(Y 3,700
ONRE 4 600,000& * 1JH 600
OAMNES Bx=2 200,000& = 1JH 200
O0lsSAME 200,000& * 1H 200
OZ2H(=%) 200,000& * 1H 200
OaERe = 400,000& = 1JH 400
O3glos Holg 400,000& * 1H 400
Oor(gas 500,000& * 1H 500
O3glos oX 300,000& * 1H 300
Oglos 9X 150,000& * 6H 900




